Soustraction (C)

Calculez la différence.

766 409 799 552
=7 =68 =69 =81
642 869 336 930
-3 =12 =23 =34
693 939 950 724
=81 =89 =50 =55
367 272 662 343
—34 =66 =59 =&
877 782 565 457
—38 =37 =14 =43
496 464 557 878
—67 =22 =99 =95
314 688 330 537
=51 =70 =7 =117
689 361 128 366
-7 =16 =90 =52
794 982 324 223
-3 =18 =60 =44
393 912 885 972
—20 =19 =69 =15

507 884 H27 593 786 225
-3r =14 =99 =11 =50 =97
205 384 497 594 631 o’1
—68 =8 =15 =59 =47 =176
945 366 181 967 525 963
-69 =73 =70 =34 =69 =10
158 108 o81 643 352 805
-7 =77 =87 =9 =76 =11
943 755 241 279 837 475
-6 =8 =91 =46 =47 =21
583 432 189 992 262 198
-52 =70 =71 =52 =33 =43
336 144 284 311 o84 343
-3 =30 =62 =21 =25 =21
948 016 452 630 182 472
-19 =57 =94 =37 =33 =13
834 706 238 018 413 536
—20 =94 =45 =40 =42 =77
632 227 630 135 992 650
—50 =31 =46 =68 =80 =30
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Soustraction Solutions (C)

Calculez la différence.

766 409 799 552
=78 =68 =69 =81
638 341 690 471
642 869 386 980
-3 =12 =23 =34
606 857 363 946
693 939 950 724
=81 =89 =50 =55
612 850 900 669
367 272 662 343
—34 =66 =59 =&
333 206 603 259
877 782 565 457
—38 =37 =14 =43
839 745 501 414
496 464 557 878
—67 =22 =99 =95
429 442 458 783
314 688 330 537
=51 =70 =7 =117
263 618 255 460
689 361 128 366
-7 =16 =90 =52
615 345 38 314
794 982 324 223
-3 =18 =60 =44
756 964 264 179
393 912 885 972
—20 =19 =69 =15
373 893 816 957

507 884 H27 593 786 225
-3r =14 =99 =11 =50 =97
470 870 428 082 736 128
205 384 497 594 631 081
—68 =8 =15 =59 =47 =176
137 299 482 535 o84 505
945 366 181 967 525 963
-69 =73 =70 =34 =69 =10
876 293 111 933 456 953
158 108 o81 643 352 805
-7 =77 =87 =9 =76 =11
81 31 494 bA7 276 794
943 755 241 279 837 475
-6 =8 =91 =46 =47 =21
878 666 150 233 790 454
583 432 189 992 262 198
-52 =70 =71 =52 =33 =43
H31 362 118 940 229 155
336 144 284 311 o84 343
-3l =30 =62 =21 =25 =21
305 114 222 290 599 322
948 016 452 630 182 472
-19 =57 =94 =37 =33 =13
929 459 358 593 149 459
834 706 238 018 413 o386
—20 =94 =45 =40 =42 =77
814 612 193 478 371 509
682 227 630 135 992 650
—50 =31 =46 =68 =80 =30
632 196 584 67 912 620
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